Counting Principle & Intro to Probability Individual Practice
Cynthia is planning a party.  For entertainment, she has designed a game that involves spinning two spinners.  The spinner with four possible outcomes gets spun first, and the spinner with three outcomes gets spun second.  Assume all the sections in each spinner are the same size.  If the spinner lands on a line it will be spun again.
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a. Use the Fundamental Counting Principal to give the total possible outcomes for this scenario?

b. Draw a tree diagram to show the different outcomes for spinning both spinners.

c. Give the sample space for this spinner scenario.
d. What are the events in this scenario?

e. What are the outcomes in this scenario?

f. If both spinners are spun once, what is the probability that the sum of the two spinners is ten? 
